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0 km/h, west)

y v e = e v _— - 6
| An airplane of velocity (v1 = 800 km/h, north) faces 3 wind of velocity (v2

| The resultant velocity of the plane is-

-.'I [ o (802 kmvh, south of west,
i / o (740 km/h, south of west) l
f | © (802 km/h, north of west)
: :'; © (740 km/h, north of west)
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GalEal

3
0x0.16 * 0.130 X 0.7,18

Question No 16

producl 1.044 x 10.

' [ the
Taking significant figures into account,

correctly written as:

«0.1520064

- 0.2
~0.15
0.15201
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A'cyiinder of plafinum-iriditim, kept at the Bureau of weights and Measures in France.
| gives the standard of- .
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m . _______________,__...-. . = can be - .
A l"tll(;l;';'l's floor is made of 200 ceramic blocks, 30 cm x 20 cm each. The area of this room
estimated as: . E-g
0 6m! n :
024m ===
s e
0 18m? |
|
|
J ,
L
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| I
|
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| Which of the following is an Sl unit?

-
o]
oyait =
o mole
o a3
© mile m|
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| AT 5-§*&imand is weighed on a scale of 0.1-9 smallest division.
_' scale's precision is:

—— i v . =
The weight that is correct within the

B

o72g | y
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0795 (s
oe79g l
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Ifr is a length, A is on arca and Viss *=lume, the equation Aur = r‘NisdimuﬁfnmIlywnaclﬂ'n equals:

0-6
o-5
06
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. L) a2 . . . H b
If one light-year (3 322 41.) is the distance light travels in 1 year, one year=3 » 10 s, and Nl::n
the speed of light in space is (3 x 10° mUs), one light-year is approximately:
(distance = speed x time) ﬂ
0
) 106 m
O 104 m

O 109m

5
w102 m m
|22/
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| The dimensions of (mass/volume} is'

|
o Ipm’
o ML}

0 ALY
¢ g’

Scanned with CamScanner

Scanned with CamScanner



MKCL OES

| Physics_Quiz1_Sem2 2020
To -

tal questions in exam: 25 | Answered: 20

Question No. 24

mnm -

The thickness of a 1200-page book Is about 1.9 Inches The thickness of

' estimated as: aunge sheet ol ths book canpe | UM
. Num
\ :
C) 0.04 mm 0
I" < 0.01 mm

' 0.8 mm n

!

|
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Question No. 21 “n- © [User

) ’ N | User

. U . . i N b

If one light-year (A0 4J) s the distance light travels in 1 year, one year=3 » 10" s, and n:::n
| | the speed of light in space is (3 x 10' m/s), one light-year is approximately:

| | (distance = speed x time) B
“ ! 0
0 10¥m
O 104 m [
¢ 10°m B
| ©102m 15
|
|
|
|!I
|
!
ERE e
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ﬂu?&i'a_ﬁegr ofa hu'rrE;h-;fr is 110 micrometers, this equals to:
(Hint: 1 mm = 1000 micrometers) | <
J

Quesbon No. 2

o1.1mm
ol:l.ﬁ mm
0 0.011 mm

00.0011 mm I ﬁg
|
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' Question No. 18 R — . =
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_________——-——_

lfrisnlmgh,Aisanmand\’isa\-oll.une,m"qmﬁm&r: Fn:h__ T ! 'rﬁ;_,

| . = r 1 diﬂ!ﬂuiona][y cm irﬂ q‘nl!. |
! E Nui
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!f’i 05 | lE
; O -5 _3
-7 '
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Question N;?\__ .‘ “ nn
— .__—————_________ﬁ_________ﬁ____.__ -
Using an Instrument with €m and mm divisions to

MEASUTR 2 Coran lerem™ we gt 3 vave of 1250 » = um
- Our measurement can then be written as. Ny

N | ’

1 .

| B
OL=14502%0.1¢m iy

O L=14502+02cm
CL=14502+10cm
O L=1450.2 + 0.01 cm

EaVe Next

o
Tt MR B
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Question No. 8 n
A lake with approximately circular surface has an average radius r = 0.5km and everagedepthh= 101
The volume V' = xrih of this lake in liters (L) is epproximately:

O 1010L,
1012 L
v 10°L
0 10°L

Save & Nexts
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[ Total questions in exam: 25 | Answered. 15
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Question No. S =
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A lake with approximately circular surface bas nnwr&tluhninzt;&;ek-IOn
The\vlmc\'-aﬂhofmhhkzhmmm]hwm‘}:

w1001
102 L
w10°L
v 10'L
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“emole

o foot

o candela
kg

Tas S
o

Scanned with CamScanner

Scanned with CamScanner



] yaame2!
¢ serond
) lggtam

Scanned with CamScanner

Scanned with CamScanner



Scanned with CamScanner

Scanned with CamScanner



P ———

i

Scanned with CamScanner

Scanned with CamScanner



Scanned with CamScanner

Scanned with CamScanner



MP.CL Ots L
— p PO e
" o) questons n €XAM, 1Y B e i
| RSl EEsks |
il 30x 0.7, 5 N
iy ot the product 1.044 10.0  0.16 * 0.1 |
CO
1 Taking significant f qures o ac | T h
i comectly written as: 2

| |
|+ 0.1520064 [ Inl
i 0.2 ' . 15
 ©0.15 | ]EJ.?; J
2 0.15201 [
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- '_;--_Hﬁ. = 0'6: ]
&50 oL equals (1 micr0 ) 9

|« 0.00005 L
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quanle that 2
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l‘. o scalarl

v displacement

5 goceleration
o vector
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; question NO- 13
Egigniﬂca_nt h

—_ B -
gures in the numbers A 7700 and

! fn_e number

O 4for Aand 4 for B.
o 4forAand 2 for B.
>4forAand5forB.
C2lrAand3forB. |

]
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- ' '”fr?é_ﬂ'rg;atant.(R)'is nearly:

— N ). The magnitude of
;i forces are: ('F_1 -g0 N, up) & (F2= 90N, right). The m_agnl :
wo 10 . /
cON |
127N
« 180N J

v8ON
|
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When . lest divi | o) ;
i We Use a prolractor of 1° smallest divisions, the uncertainty is apprbximately equal tc
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time, the equation ¥ =

queston No. 12
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If ris 2 len
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B
| - i - A R —_ :
oot ey AT o _sultant (R)is nearly:
o N, up) & (F2 = 90N, right). The magn ude of the resultant (
Two forces are: (F1= 9V o g L /

cON

127N
« 180N
C80N
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! fr; number

]

O 4for Aand 4 for B.
O 4forAand 2 for B.
> 4 for Aand 5 for B.
. ¢ 2for Aand 3 for B.

;gigniﬂca_nt figures in

— I
i ively:
| question No. 13 nd B = 0.00770 are, respect y
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}Fow o5 :iovf;; TrTe magnilude of their resultant ;
'and (F4 =

0N

0150 N
+100 N
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| .9078m
"_ +0.00978 m
il 0078 m
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Question No. 8
|

Mrmakenyn vhna speed and LB 1M, the equation v E kil ¢ 1115 arnensichaly corect f k has the

damensian of

o LT3
AT
T

o LT?

,1*Y/k

-
>
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Question No. 2

The number of S base quantites is
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Physi

When W6 vediors donét.act In exactly the same or.opposite diféction, their resujtant
can be found using: |

o Area'rule _ : |
O Right-hand theorem s If
© Circle rule & |
© Parallelogram’rule |
B
1
‘I al
yod

-201

LA L] MKCL OES Exam Qert Vermon 200 2

HP L1710
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When riiaking measuréiments, the fesult of sublritting 7.5 from;25.578 is
correctly wrilten as:

018.1- w
0 18.078

018

©18.08

e MKZLOITS By ym Thors Viemon 2002
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/f' | Knowing that.1 mile = 1608,m, 08 km'is nearly equivalant to:
/ ©0.61 miles
f © 98 milés
! ,‘.' © 6.1 miles
(. f| ©61mies
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|

=

—

——

| w6290
MKCL OES Exam Clert Verion 200

Scanned with CamScanner

Scanned with CamScanner



|
- A n

I' P EET s o T X _-_—-1!_;.'_)__ . "-'-.'n n,ant
| Tree rorceS are: (1= 134N tight). (F2 = 17:; jen) and (F3''43 N len). Tne magnitude of thekr fesu
| (R)s:

© 160N
@ 74N
O 210N
Q17N

!__'l =

10.1064.240
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The S! unit of tempera

o Kelyin
o Joule’

© Watt

o Fahrenhelt |

ratiire Is the:
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A lengtn of 67.8 mm Is eqUa(to;

@gg78m
© 0.9978m:
© 0.09978 m
©99.78 M

S

MKCL OES Exam Chent Vers:
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i - p L 1

An atom’s radius is 100 m. This equals, (I nano = 10 1 micro () = 10 nano,
1m = 10° pm): -

©‘1.nm
© 1pum
© 0.1 pm
© 0.1 nm

10.10.64.240 MKCL OES Exam Client Version 2.0 0.2

Scanned with CamScanner

Scanned with CamScanner



aEEE|

——

The percent uncertainty.in the measurement m =225 + 0.5 g IS.

0 2%
0 1%
0 5%
0 3%
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Of the éifewing S1 unitéthe only defived unit |

| @“@mpere
@ newlotl
| ® meter
@ kelvin
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A concéntration of 114 ilcrogramsimilliiters (114{ig/mL) Is equilvalent to:
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1 For ni 20,6760, n2'%0.087880;73,= 0.607860;and n4 ='607.89, th
| number with equal significant figures are:

en1 and;g}:-!

| @ n2 and n4
' o n3 and n4
o n1'and, n3

|
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Physics Quiz1 Sem2 2020

An opject starts moving.uniformly from rest in straight line arid‘reaches ao‘ﬁ;f‘s‘%h :

5 seconds. Its acceleration is:

© 6 m/sls

© 25 m/s/s
e} 27 m/s/s
© 30 mis/s
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|| velocity of the plane Is: i
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© (802'km/h narth of west H
© (802 km/h, south of west) :
© (740 km/h, south of west) i
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|| stanimcantfigures are the digitsIn a number hat are:
|
|

Oimknown
© uncentaip-
© not important
/ 4 | O rellably known
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A quanthyanat has a magnitude and fio,direction’ls’called: .

o scalar’ _
© acceleration
© displacement
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Knowing that 1.1 = 12 In. a1 yard (ya) = 3 1 how many yafds are there In 720in.7 A1
(™) (W] ]

all

O 20y9 1
0O 36yd Vel
O 200 yd ¥ |

O 12yd ]
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P —ere = ey A —————
The frequency of radiation of cesium atoms is used to gve tné stanoara or.

0 ﬁggg;am
O inch’®
O secont
Q Kkilometer
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